NENCTBUE HAA
BEKTOPAMM B
NMPOCTPAHCTBE




® Cymmoun BEKTOPOB 3 (a;b;c) 1 B(m;n;Kk) Ha3biBaeTC
BeKTop ((a+m;b+n;c+k)

= — -
©® Hanpumep, HanTn KoopamHatbl BekTopa C = a + K,
ec/u 5(-5;3;-9) 7 I_c)(4; -2; 8)

PeweHue:
_)

C(-5+4; 3+(-2); -9+8)
C(-1; 1; 1)




® [lpou3BegeHUEM BeKTopaa(a B;C) Ha 4YMC/o
A Ha3biBaeTCA BEKTOp Ag na; AB; Ac)

® Hanpumep, HalTu KoopamHaTbl BekTopa 4k,
ecim K(5;-1;-2)

PelwleHue:

4R(4-5;4 - (—1);4- (=2)) = 4R (20; —4; —8)

4% (20; —4; —8)




® CKaﬂﬂprlM NPO13BEAEHNEM BEKTOPOB a(a B;C) H
K(X;y;Z) Ha3blBaeTCA YUC/I0O 7 -+ K =ax+By+CZ

Hanpumep,

Hal\;ITM CKa/lApHOEe npouvuideegeHne BeEKTOpoOB
K(—4;3;2)un ¢é(—1;-5;-2)

Pewenne: g.g—= _4.(—1)+3-(=5)+2-(=2)
—4-15—4=—15




® JlaHo: Y(0;—6;1) uX(2;-3;0)

® Hantn. 22 2X(4;-6;0)
4y 4y(0; —24; 4)
— —
X—y X— WZ3;-1)
2% + 4? 2X + 4y(4;-30;4)

;55; X-y=18




